
3DJH��

A
vi

at
io

n

Phone: (860) 526-9504
Internet: www.flyWAT.com
Sales/Service e-mail: info@flyWAT.com

������:KHOHQ�$HURVSDFH�7HFKQRORJLHV
)RUP�1R������$���������

,QVWDOODWLRQ�*XLGH�,&$�
$YLDWLRQ�PRGHO�V��25����*6��25����56

3�1�����������������������������
2ULRQ�����:LQJWLS�3RVLWLRQ�$QWL�&ROOLVLRQ�/LJKWKHDG

The conditions and tests required for TSO approval of this article are minimum performance standards.
Those installing this article either on or within a specific type or class of aircraft must determine that
the aircraft installation conditions are within the TSO standards which include any accepted integrated
non-TSO functions. TSO articles and any accepted integrated non-TSO function(s) must have separate
approval for installation in an aircraft. The article may be installed only according to 14 CFR part 43 or
the applicable airworthiness requirements.

������:$51,1*��7KLV�SURGXFW�FDQ�H[SRVH�\RX�WR�FKHPLFDOV�LQFOXGLQJ�0HWK\OHQH�&KORULGH�ZKLFK�LV�NQRZQ�WR�WKH�6WDWH�RI�&DOLIRUQLD�WR�FDXVH�FDQFHU��DQG
%LVSKHQRO� $�� ZKLFK� LV� NQRZQ� WR� WKH� 6WDWH� RI� &DOLIRUQLD� WR� FDXVH� ELUWK� GHIHFWV� RU� RWKHU� UHSURGXFWLYH� KDUP�� )RU� PRUH� LQIRUPDWLRQ� JR� WR
ZZZ�3��:DUQLQJV�FD�JRY�

TSO-C30c 
TYPE I, II
APPROVED

TSO-C96a 
CLASS III
APPROVED

1.67

White .........+28VDC (ACL)
Orange ......+28VDC (POS)
Yellow........SYNC
Black .........Ground

WIRING

10”±1.0”

20 AWG
MIL-22759/43 Wire

1.79

3.95

.500

Ø1.000

3X Ø.150
(for #6 Screw,
100° C’sink)

Stud shown for
reference only

Label

1.000

.670

1.750

Mounting Detail

63(&,),&$7,216�
1RPLQDO�2SHUDWLRQDO�9ROWDJH� �������������������������� ��9'&
�2SHUDWLRQDO�IURP������9'&�
,QSXW�&XUUHQW�
3RVLWLRQ�/LJKWV ������������������������������������������������� �����$PSV
$QWL�&ROOLVLRQ�/LJKW��$YJ����������������������������������� �����$PSV
$QWL�&ROOLVLRQ�/LJKW��3XOVH�������������������������������� ����$PSV
)ODVKUDWH���������������������������������������������������������� �������)30

(48,30(17�/,0,7$7,216�
$Q�DSSURYHG�IRUZDUG�SRVLWLRQ�OLJKWLQJ�V\VWHP�FRQVLVWV�RI�WKUHH�OLJKWV��RQH�ORFDWHG�RQ�WKH
WDLO�DQG�RQH�ORFDWHG�RQ�HDFK�ZLQJWLS��0RGHO�25�������LV�D�ZLQJWLS�IRUZDUG�SRVLWLRQ�DQG
DQWL�FROOLVLRQ� OLJKW�7KH�DVVHPEO\�VKRXOG�EH�PRXQWHG�DV� IDU�RXWERDUG�RQ� WKH�DLUFUDIW�DV
SUDFWLFDO�� 7KH� EDVHSODWH� PXVW� EH� PRXQWHG� SDUDOOHO� WR� WKH� YHUWLFDO� DQG� KRUL]RQWDO
FHQWHUOLQHV�RI�WKH�DLUFUDIW�WR�SURMHFW�WKH�SDWWHUQV�SURSHUO\��
&HUWDLQ�W\SHV�RI�LQVWDOODWLRQV�PD\�UHTXLUH�DGGLWLRQDO�WHVWLQJ�

$,5:257+,1(66�/,0,7$7,216�
7KH�$LUZRUWKLQHVV� /LPLWDWLRQV� VHFWLRQ� LV� )$$� DSSURYHG� DQG� VSHFLILHV� LQVSHFWLRQV� DQG
RWKHU� PDLQWHQDQFH� UHTXLUHG� XQGHU� ������� DQG� �������� RI� WKH� )HGHUDO� $YLDWLRQ
5HJXODWLRQV��XQOHVV�DQ�DOWHUQDWLYH�SURJUDP�KDV�EHHQ�DSSURYHG�
1R�DLUZRUWKLQHVV�OLPLWDWLRQV�DUH�DVVRFLDWHG�ZLWK�WKH�LQVWDOODWLRQ�RI�WKH�/('�SRVLWLRQ�DQWL�
FROOLVLRQ�OLJKW�

&217,18('�$,5:257+,1(66�
7KH�IRUZDUG�SRVLWLRQ�OLJKW�LV�GHVLJQHG�ZLWK�*UHHQ�RU�5HG�/('V��7KH�DQWL�FROOLVLRQ�OLJKW�LV
GHVLJQHG�ZLWK����ZKLWH�/('V��,I�DQ\�RQH�/('�IDLOV��WKH�XQLW�PXVW�EH�UHSDLUHG�RU�UHSODFHG�
,QVSHFW� WKH� OHQV�� UHSODFH� LI� WKHUH� LV� H[FHVVLYH� VFUDWFKLQJ�� SLWWLQJ�� GLVFRORUDWLRQ� RU
FUDFNLQJ��)RU�DGGLWLRQDO�OHQV�PDLQWHQDQFH�GHWDLO�VHH�6$(�$53�����
1RWH��7R�UHGXFH�H\H�VWUDLQ��XVH�DQ�RSWLFDO�ILOWHU�VXFK�DV�GDUN�JODVVHV�RU�D�EOXH�FRYHULQJ
GRPH�GXULQJ�/('�LQVSHFWLRQ�

3(5,2',&�,163(&7,216�
$Q�DQQXDO�LQVSHFWLRQ�VKDOO�EH�SHUIRUPHG�XQOHVV�WKH�2(0�VSHFLILHV�D�VKRUWHU�LQWHUYDO��

,167$//$7,21�352&('85(6�
7KH�IROORZLQJ�LQIRUPDWLRQ�LV�WR�DVVLVW�\RX�LQ�LQVWDOOLQJ�D�:$7�OLJKW�V\VWHP�

�� &KRRVH�WKH�DSSURSULDWH�OLJKW�DVVHPEO\�
�� 8VLQJ�WKH�PRXQWLQJ�GHWDLO�LQIRUPDWLRQ�SURYLGHG��SUHSDUH�WKH�DLUFUDIW�IRU�PHDQV�WR

VHFXUH�WKH�OLJKW�DVVHPEO\�
�� &DUHIXOO\�UHPRYH�WKH����SKLOOLSV�KHDG�VFUHZ�DQG�OHQV�UHWDLQHU��5HPRYH�WKH�OHQV

IURP�WKH�OLJKW�DVVHPEO\�E\�OLIWLQJ�WKH�UHDU�RI�WKH�OHQV�DSSUR[LPDWHO\����´��1RZ�VOLGH
WKH� OHQV�UHDUZDUG�DSSUR[LPDWHO\����´�DQG�OLIW�XSZDUGV�WR�UHPRYH��&$87,21��7R
DYRLG�SRWHQWLDO�GDPDJH��GR�QRW�WRXFK�WKH�/('V�ZLWK�HLWKHU�ILQJHUV�RU�VKDUS
REMHFWV��

�� 5HPRYH� WKH� ����� KH[� QXW� DQG� ZDVKHU� IURP� WKH� VWXG� RQ� WKH� XQGHUVLGH� RI� WKH
PRXQWLQJ�DGDSWHU��5HPRYH�WKH�JURXQG�VWUDS�RII�WKH�VWXG��5HPRYH�WKH���3KLOOLSV
KHDG�VFUHZV�VHFXULQJ�WKH�EDVHSODWH�WR�WKH�OLJKW�DVVHPEO\��5HPRYH�EDVHSODWH�

�� 8VLQJ�WKH�DSSURSULDWH�KDUGZDUH�LQVWDOO�WKH�EDVHSODWH�GLUHFWO\�WR�WKH�DLUFUDIW�
�� 5RXWH� WKH�ZLUHV� WKURXJK� WKH�RSHQLQJ� LQ� WKH�EDVHSODWH��&RQQHFW� WKH� OLJKW� LQSXWV

DFFRUGLQJ�WR�WKH�FKDUW�VKRZQ��&RQQHFW�WKH�SRZHU�OHDG�WR�DQ�DSSURSULDWHO\�VL]HG
EUHDNHU��&RQQHFWLRQV�WR�EH�DFFRUGLQJ�WR�)$$�DSSURYHG�PHWKRGV�
1RWH�� 6<1&� LV� D� ORZ�SRZHU�� EL�GLUHFWLRQDO� FRQWURO� VLJQDO�� &RQQHFWLQJ� WR� WKH
V\QFKURQL]H�VLJQDO�RI�DQ\�:$7�/('�DQWL�FROOLVLRQ�DVVHPEO\�WR�DQRWKHU�:$7�DQWL�
FROOLVLRQ� DVVHPEO\� ZLOO� FDXVH� WKH� OLJKWV� WR� IODVK� DW� WKH� VDPH� WLPH�� ,I
6\QFKURQL]DWLRQ�LV�QRW�QHFHVVDU\��WKH�FRQQHFWLRQ�PD\�EH�OHIW�RSHQ�

�� 5HFRQQHFW� WKH�JURXQG� VWUDS� WR� WKH�PRXQWLQJ�DGDSWHU� DQG� VHFXUH�XVLQJ�RULJLQDO
KDUGZDUH�� 7LJKWHQ� XQWLO� D� PD[LPXP� WRUTXH� YDOXH� RI� �� LQ�OEV� LV� DFKLHYHG�
:$51,1*��'R�QRW�RYHUWLJKWHQ�

�� 5H�LQVWDOO� WKH� OLJKW�DVVHPEO\�RQ� WR� WKH�EDVHSODWH�DQG� LQVXUH� WKDW�DOO
OHDGV� DUH� FOHDU� RI� DQ\� REVWUXFWLRQV� DQG� VHFXUHG� DV� UHTXLUHG��1RWH
WKDW�SURSHU�RULHQWDWLRQ�LV�DFKLHYHG�ZLWK�WKH�GUDLQ�KROH�GRZQ�

�� ,QVWDOO� OHQV� LQ� WKH� UHYHUVH� RUGHU� DV� UHPRYDO� DQG� UHWXUQ� WKH� OHQV
UHWDLQHU�WR�LWV�LQVWDOOHG�ORFDWLRQ��1RWH��9LVXDOO\�FRQILUP�WKDW�WKH�OHQV
DQG� UHWDLQHU� DUH� IXOO\� DQG� SURSHUO\� VHDWHG�� 5H�LQVHUW� ��� SKLOOLSV
KHDG�VFUHZ�DQG�WLJKWHQ�ILUPO\�

��� :KHQ�QHFHVVDU\��VHDO� WKH� OLJKW� WR� WKH�DLUFUDIW��$SSO\�VHDODQW�DURXQG
WKH�SHULPHWHU�RI�WKH�EDVH��'R�QRW�FRYHU�WKH�GUDLQ�KROH�

��� &KHFN�DOO�DYLRQLFV�V\VWHPV�IRU�LQWHUIHUHQFH�IURP�WKLV�LQVWDOODWLRQ�
��� $�IOLJKW�FKHFN�VKRXOG�EH�SHUIRUPHG�E\�D�SURSHUO\�FHUWLILHG�SLORW�
��� ,I�UHTXLUHG��XSGDWH�DLUFUDIW�UHFRUGV�XWLOL]LQJ�)$$�)LHOG�$SSURYDO��)RUP

�����RU�HTXLYDOHQW�



3DJH��

5

Drain Hole

Do Not Over-Torque #6-32 Nut.
Max. Torque = 9 In-Lbs

Light Assembly Shown
For Reference Only.4

6

1

1

1

1

1

ITEM PART NUMBER DESCRIPTION

OR6502RS Wingtip Position/Anti-Collision Light, 28V (Red)

OR6502GS Wingtip Position/Anti-Collision Light, 28V (Green)

Adapter, Mounting With Stud

Screw, 4-40 x 7/16 P100FH CSNK MS24693-C5

Screw, 4-40 x 1/4 P100FH CSNK MS24693-C2

Retainer, Lens

Gasket, Lens

0 1 - 0 7 9 0 7 2 5 - 1 3

0 1 - 0 7 9 0 7 2 5 - 1 4

0 7 - 5 5 1 0 8 9 - 11 0

1 4 - 0 0 5 0 5 8 1 - 0 5

1 4 - 0 0 5 0 5 8 1 - 0 2

1 9 - 1 5 1 0 8 8 - 0 0 0

3 8 - 0 2 3 1 3 8 2 - 0 0

QTY QTY

33

1

11

1

*
*

1

2

3

2

4

5

6

1

31 Lens Assy0 1 - 0 2 5 1 0 9 4 - 0 0


